

Perspective and conception of Thai gynecologic oncologists in palliative care

Panida Mathaveechotikul¹^, Chuenkamon Charakorn¹^, Arb-Aroon Lertkhachonsuk¹^, Navamol Lekskul¹^, Sarikapan Wilailak¹^, Kittiphon Nagaviroj²^

¹Division of Gynecologic Oncology, Department of Obstetrics and Gynecology, Faculty of Medicine Ramathibodi Hospital, Mahidol University, Bangkok, Thailand; ²Department of Family Medicine, Faculty of Medicine Ramathibodi Hospital, Mahidol University, Bangkok, Thailand *Contributions*: (I) Conception and design: All authors; (II) Administrative support: C Charakorn, AA Lertkhachonsuk, N Lekskul, S Wilailak; (III) Provision of study materials or patients: C Charakorn, AA Lertkhachonsuk, N Lekskul, S Wilailak, K Nagaviroj; (IV) Collection and assembly of data: P Mathaveechotikul, C Charakorn, AA Lertkhachonsuk; (V) Data analysis and interpretation: P Mathaveechotikul, C Charakorn; (VI) Manuscript writing: All authors; (VII) Final approval of manuscript: All authors.

Correspondence to: Chuenkamon Charakorn, MD, MSc (Medical Epidemiology). Division of Gynecologic Oncology, Department of Obstetrics and Gynecology, Faculty of Medicine Ramathibodi Hospital, Mahidol University, 270 Rama VI Rd., Thung Phayathai, Ratchathewi District, Bangkok 10400, Thailand. Email: chuenkamonc@hotmail.com.

Background: Palliative care evidently increases the quality of life among the patients with advanced cancer. However, there are very few studies on the aspects of the physicians' ideas, conceptions, or the effects of their ideas in palliative care quality, especially in Asian countries. This study aimed to evaluate the conception and perspective on palliative care in Thai gynecologic oncologists.

Methods: The online survey was distributed to all certificated Thai gynecologic oncologists. The survey could be accessed via working email address, hyperlink, or QR code during May 2020 and January 2021. A 5-point Likert scale captured the perspectives and concepts of palliative care. The association between respondents' characteristics and their choices of content in palliative care, together with their decision making in specified clinical scenarios was analyzed.

Results: A total of 207 completed surveys from 320 Thai gynecologic oncologists were received (64.69% participation rate). They prospected a willingness to give the advices to both patients and their families (85.50%), and strongly agreed to introduce palliative care in any stage of cancer at the time of diagnosis (75.80%). The numbers of their palliative cases per year were 5–20 (57.97%) and the palliative care teams were available in their hospitals. They decided to offer early palliative care and do-not-resuscitate, especially for the elders, or patients with advance stages, or recurrent disease. We found that gynecologic oncologists who previously experienced a palliative care training did not show any difference in decision making in specified clinical scenarios, compared with who did not.

Conclusions: That gynecologic oncologists responded to the conceptions and perspectives in palliative care. Their concepts of early and willingness to offer a palliative care especially in the elders, advanced stage, or recurrent patients were proven, regardless of the experience in palliative care training.

Keywords: Conception; gynecologic oncologist; palliative care; perspective

Submitted May 29, 2021. Accepted for publication Aug 06, 2021. doi: 10.21037/apm-21-1418 View this article at: https://dx.doi.org/10.21037/apm-21-1418

[^] ORCID: Panida Mathaveechotikul, 0000-0003-0874-1754; Chuenkamon Charakorn, 0000-0002-5985-6191; Arb-Aroon Lertkhachonsuk, 0000-0003-3283-5064; Navamol Lekskul, 0000-0003-4724-1461; Sarikapan Wilailak, 0000-0001-7288-494X; Kittiphon Nagaviroj, 0000-0002-5803-5244.

Introduction

Cancer is still a leading cause of death worldwide. In 2018, Thai National Cancer Institute (NCI) reported 126,555 new cancer cases. Five leading cancers in Thai female were ranked from breast, liver and bile duct, cervix uteri, colon and rectum, and lung. The mean annual age-standardized incidence rates (ASR) were 31.4, 12.9, 11.7, 11.2, and 10.9 per 100,000 women years, respectively (1). The cancer treatment outcomes depend on multiple factors such as stages of diseases, medical conditions and physical status of cancer patients, competency and capacity of health care facilities, and socioeconomic factors. However, most of the cancer patients will experience disease progression or recurrence which is an ominous prognosis. Consequently, the end-of-life state is an unavoidable destination. Thus, palliative care (PC) should early be introduced to the patients and/or their families, e.g., right after the disease diagnosis, or during treatment, even when the goal is curative. A multidisciplinary team approach is also essential.

PC evidently increases the quality of life among the patients with advanced cancer (2). Early PC for patients with advanced cancer has a better outcome in terms of quality of life than the delayed (3,4). Early PC offer provides guidance on symptom management and thoughtful discussion in advanced care plan. The goal of early PC engagement is to consider the patients' values and preferences, and to stay in a more relaxing environment than the acute care situation in the hospital (3-6). Patients who understood PC reported the better quality of life and less depression, received less chemotherapy within the last 6 weeks of life, received fewer unnecessary invasive measures at the end of life and survived longer than those followed up under a traditional care model (3,4). The longer interval between PC referral to death was associated with more death outside the hospital (6).

In 2014, Schenker *et al.* published an interview study based on 74 medical oncologists at 3 academic cancer centers in the United States. The interviewer asked about experiences and decision-making regarding outpatient PC use. They found that provider factors play an important role in influencing subspecialty PC referrals (7).

Many studies have been published about gynecologic oncologists' attitude towards PC. Nevertheless, most of them were conducted in the western countries. Surveys in practices and attitudes of gynecologic oncologists who were members of the Society of Gynecologic Oncologists (SGO) were published in 2011 and 2019. During the 8-year period, the results showed that gynecologic oncologists who agree to integrate PC and end-of-life discussion into cancer care increased from 53.9% to 75% (8,9). On the other hand, a survey on PC education in the American Board of Obstetrics and Gynecology-approved gynecologic oncology fellowship program during the 2009–2010 academic year reported that no PC skills were explicitly taught to more than 50% of the respondents (10).

In Thailand, there were some studies published in views of PC effects, interventions, and home care. In 2017, Nagaviroj and Anothaisintawee reported the association between multidisciplinary home care and home death among Thai PC patients. There are factors associated with the satisfaction of care such as relieving the symptom burden, increasing the patient's self-management of the illness, increasing the receipt of enough information to handle the emergency condition, and relieving the caregiver's burden. They stressed that home PC was an important factor for the patient's home death (11). However, there are very few studies on the aspects of the physicians' ideas, conceptions, or the effects of their ideas in PC quality. In 2015, Ratanakaaew et al. did a survey in PC education among Thai gynecologic oncologists. They found that Thai gynecologic oncologists responded with positive attitude towards PC, although they requested for more training (12).

Even though PC is increasingly emphasized nowadays, the communication with PC patients concerning their diseases and the appropriate initiation of PC in the treatment plan still occur late. The primary objective of this study is to evaluate the conceptions and perceptions on PC among gynecologic oncologists. Secondary objective is to identify the factors that might affect their ideas providing the useful information in order to improve PC quality for Thai gynecologic cancer patients.

We present the following article in accordance with the STROBE reporting checklist (available at https://dx.doi. org/10.21037/apm-21-1418).

Methods

Participants

After the approval from the Human Research Ethics Committee, Faculty of Medicine Ramathibodi Hospital, Mahidol University (COA. MURA2020/552), a set of questionnaires was developed and an access to online survey google form was granted in May 2020. All 320 members of the Thai Gynecologic Cancer Society (TGCS) who were certificated gynecologic oncologists in Thailand were eligible. At least 178 respondents were required for this

survey. Sample size was calculated from Taro Yamane's formula (13). The participants who refused to answer the questionnaire were excluded. An online survey can be accessed via working email address, hyperlink or QR code. Reminder emails were sent at the 1–2 months interval. The survey was closed in January 2021. Participation was voluntary and anonymous. The study was conducted in accordance with the Declaration of Helsinki (as revised in 2013). The informed consent was taken from all individual participants.

Questionnaires

The survey questions were developed by the researcher team with the contents from the reviewed literatures (10,12). Participants were asked to identify their characteristics e.g., age, gender, workplace settings, years of practice as a gynecologic oncologist, an average number of palliative cases per year, the training in PC, and availability of the PC team in their hospitals. The conception and perspective in PC were evaluated on the 5-point Likert scale, i.e., strongly agree, agree, neither agree nor disagree, disagree, and strongly disagree. Four specified clinical scenarios were created to evaluate a decision-making trend, based on the prognosis stratified according to the patients' age groups (young, middle, or old age) and stages of cancer (early stage, advanced stage, or at recurrence). The questionnaires also comprised the open-ended questions about the additional opinions and the problems in PC. The questionnaires were in Thai language. It was tested for content validity by the two expert gynecologic oncologists and two expert palliative clinicians. The content validity index of the conception and perspective contents, and the specified clinical scenarios were 0.87 and 0.89, respectively.

Statistical analysis

Data was analyzed with STATA version 16.0 statistical software (StataCorp, College Station, Texas, USA). We used descriptive statistics which were number, percentage, median, min, and max to analyze the participants' characteristics. The association between the participants' characteristics and their responses on the conception, perspective, and decision making in the clinical scenarios was analyzed by Pearson's chi-square or Fisher's exact test for categorical data. For the non-parametric continuous data, the Mann-Whitney U test or Kruskal-Willis equalityof-populations rank test was applied as appropriate. A P value of 0.05 was considered statistically significant.

Results

There were 207 participants from a total of 320 Thai gynecologic oncologists who replied to this survey (64.69% of participation rate). Most of the participants were female (69.08%) and age \leq 40 years (55.56%). Half of them practice in Bangkok (52.66%). Their workplace settings were the provincial tertiary hospitals (40.10%), academic universities (35.27%), and private hospitals (17.87%). Most of them reported <10 years working experience as a gynecologic oncologist including fellowship training (64.25%). The majority of them take care of 5–20 palliative cases per year (57.97%). The characteristics of respondents are shown in *Table 1*.

From their points of view, almost all participants were willing to give an advice on PC (85.50%). Approximately three-fourth of the participants strongly agreed to introduce PC at the time of the diagnosis regardless of the cancer stage. Moreover, 64.70% strongly agreed that PC and endof-life care were their responsibilities, and 87.90% of them were strongly agreed that PC should be taught during the fellowship training. In addition, 98.10% of them strongly agreed that family members played an important role in PC, end-of-life care, and advanced care plan aiming to reduce unnecessary invasive procedures and grieves over death.

The associations between the participants' characteristics and the concept and perspective in PC among the Thai gynecologic oncologists were demonstrated in Table 2. The participants' characteristic association with the level of agreement based on a 5-point Likert scale were established. In brief, the availability of the PC team in their hospitals was associated with earlier PC introduction, especially at the time of cancer diagnosis regardless of the cancer stage (P=0.002). More male than female gynecologic oncologists agreed that PC can relieve grief of the family after the patients' death (P=0.031). More gynecologic oncologists without any PC team in their hospitals agreed that PC should be a compulsory subject in the fellowship training than those with the PC team (P=0.048). In addition, gynecologic oncologists with <5 PC patients per year agreed less that PC was important in their current practice, compared to those with 5-20 or >20 PC cases per year (P=0.002). Likewise, the gynecologic oncologists with the PC team in their hospitals recognized the importance of PC more than those without the PC team (P=0.025).

For the 4 specified clinical scenarios, we divided the

10296

Mathaveechotikul et al. Thai gynecologic oncologists' perspective in palliative care

Table 1 Participants' characteristic			e ct							
Characteristic	Number (%)		liativ e is ant ii urren rk		[2]	[2]	47		2]	[2]
Age			3 Pal care port: ur cu wol		5 [2,	5 [3,	0.3		1.5 [2	5 [3,
≤40 years	115 (55.56)		yo ni Yo Q8						7	
>40 years	92 (44.44)		re Isony ogic thip							
Sex			e cat mpu ecolo lows		_	_			_	_
Male	64 (30.92)		ative a col gyne it fell		5.	, 5. , 5.	679		, 5.	4, 5
Female	143 (69.08)		Palli be a ct in logis tra		5	5 [o.		5	5
Religion		ists	Q7 ould ubjec							
Buddhism	196 (94.68)	olog	sh sh							
Christianity	5 (2.42)	onc	ive lieve amil after died							
Islam	2 (0.97)	ogic	alliat in re of f ers a ient		1, 5]	3, 5]	383		3, 5]	1, 5]
Atheist	4 (1.93)	tecol	06 Pa e ca rieve emb		5[5	0		2	5
Region of practice		i gyr	a gr							
Bangkok	109 (52.66)	Tha	are e lure fe							
Central	32 (15.46)	ong	/e ca ease oced of-li		<u>[0</u>]	[0]	-		[0]	[0]
North	11 (5.32)	e am	lliativ decr e pro end- atier		4	4	0.82		4,	4
Northeast	20 (9.66)	e car	5 Pa can asiv		Ŋ	Ŋ	0		Ŋ	Ŋ
East	15 (7.25)	iative	i, ö,							
West	2 (0.96)	palli	end- th							
South	18 (8.69)	in in	your vility an e ent a		5]	5]	2		5]	5]
Years of practice as a gynecologic oncol	logist	eptic	It is bnsik re of patio aring		3,	3,	0.81		5 [3,	3
<10 years	133 (64.25)	perc	Q4 espc e ca -life repa		4	40			47	μ)
10–20 years	58 (28.02)	and	of tak							
>20 years	16 (7.73)	tion	y are f-life							
Workplace		ncep	amily ers a porti id-of		, 5 <u>]</u>	· 5]	28		· 5]	, 5]
Academic university	73 (35.27)	d co	23 F emb y im ie er pati		5 [3	5 [4	0.4		5 [4	5 [3
Provincial tertiary hospital	83 (40.10)	cs an	to th							
Private hospital	37 (17.87)	inisti	e?							
Cancer center	12 (5.80)	racte	e you o giv e abo		5]	5]	6		5]	[2]
Community hospital	2 (0.96)	cha	2 Are ing tu dvice ative		5 [3,	5 [3,	0.71		5 [3,	5 [3,
Number of palliative cases per year		ants	Q willi an ac palli							
<5 cases	37 (17.87)	ticip	e e e e							
5-20 cases	120 (57.97)	ı par	Jree Jiativ me c any i any							
>20 cases	50 (24.16)	меел	u ac e pal he ti sis in f car		1, 5]	1, 5]	442		1, 5]	1, 5]
Training in palliative care		ı bet	o yc duce at tl gnos		5	5	ö		2	2
Ever	178 (85.99)	atior	21 D ntro care dia staç							
Never	29 (14.01)	ssoci	- U							
Palliative care team in hospital		he as			ຄ	δ				
Yes	169 (81.64)	2 T	ñ		year	yeaı	anlue		۵.	ale
No	38 (18.36)	able	acto	ge	≤40	>40	Р vа	ка	Male	Fem
Total	207 (100 00)	Ę	ц Ц	Ā			_	Ñ	_	_

© Annals of Palliative Medicine. All rights reserved.

Table 2 (continued)

Table 2 (continued	<i>(</i>)							
Factors	Q1 Do you agree to introduce palliative care at the time of diagnosis in any stage of cancer?	Q2 Are you willing to give an advice about palliative care?	Q3 Family members are very important to the end-of-life patients	Q4 It is your responsibility to take care of an end- of-life patient and preparing death	Q5 Palliative care can decrease invasive procedure in an end-of-life patient	Q6 Palliative care can relieve a grieve of family members after the patient died	Q7 Palliative care should be a compulsory subject in gynecologic oncologist fellowship training	Q8 Palliative care is important in your current work
Work experience								
<10 years	5 [1, 5]	5 [3, 5]	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [1, 5]	5 [4, 5]	5 [2, 5]
10-20 years	5 [1, 5]	5 [3, 5]	5 [5, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [2, 5]	5 [3, 5]
>20 years	5 [1, 5]	5 [3, 5]	5 [5, 5]	4 [4, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	4 [3, 5]
P value	0.193	0.219	0.323	0.124	0.804	0.139	0.995	0.242
Work place								
Academic university	5 [1, 5]	5 [3, 5]	5 [5, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [2, 5]	5 [3, 5]
Provincial tertiary hospital	5 [3, 5] I	5 [3, 5]	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]
Private hospital	l 5 [1, 5]	5 [4, 5]	5 [5, 5]	5 [3, 5]	5 [4, 5]	5 [1, 5]	5 [4, 5]	4 [2, 5]
Cancer center	5 [1, 5]	5 [3, 5]	5 [5, 5]	5 [4, 5]	5 [4, 5]	5 [3, 5]	5 [5, 5]	5 [3, 5]
Community hospital	5 [5, 5]	5 [5, 5]	5 [5, 5]	5 [5, 5]	5 [5, 5]	5 [5, 5]	5 [5, 5]	5 [5, 5]
P value	0.240	0.124	0.194	0.579	0.798	0.357	0.143	0.071
Number of cases	s per year							
<5 cases	5 [2, 5]	5 [4, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	4 [2, 5]
5–20 cases	5 [1, 5]	5 [3, 5]	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [1, 5]	5 [4, 5]	5 [3, 5]
>20 cases	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [4, 5]	5 [4, 5]	5 [3, 5]	5 [2, 5]	5 [3, 5]
P value	0.224	0.143	0.376	0.578	0.687	0.304	0.274	0.002*
Training in palliat	ive care							
Ever	5 [1, 5]	5 [3, 5]	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [1, 5]	5 [2, 5]	5 [2, 5]
Never	5 [2, 5]	5 [4, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [4, 5]	4 [3, 5]
P value	0.180	0.702	0.528	0.390	0.590	0.732	0.375	0.389
Palliative care te	am in hospital							
Yes	5 [1, 5]	5 [3, 5]	5 [3, 5]	5 [3, 5]	5 [4, 5]	5 [3, 5]	5 [2, 5]	5 [3, 5]
No	5 [1, 5]	5 [4, 5]	5 [5, 5]	5 [3, 5]	5 [4, 5]	5 [1, 5]	5 [4, 5]	4 [2, 5]
P value	0.002*	0.750	0.339	0.757	0.653	0.452	0.048*	0.025*
A 5-point Likert : max]. *, P<0.05.	scale was scored as	5 =strongly agree,	, 4 =agree, 3 =agre	e nor disagree, 2 =c	lisagree, and 1 =strc	ngly disagree. All	data are represented by	median [min,

10297

Factor	Q1: A 39-year-o up. Her CT ch well conscio	old female with recurrer nest with whole abdome ous and has a normal d	nt cervical cancer, en reveals lungs, ly aily life. Would you	comes to the hospita mph nodes and lum tell the prognosis to	al with her husband t bar spine metastasis her and/or her husb	or follow . She is pand?
Factors	Tell patient, not her husband	Tell patient if she expresses that she wants to know	Tell both the patient and her husband	Tell her husband, but not the patient	Neither tell patient nor her husband	P value
Age						0.213
≤40 years	8 (6.96)	11 (9.57)	96 (83.48)	0 (0.00)	0 (0.00)	
>40 years	11 (11.96)	8 (8.70)	70 (76.09)	1 (1.09)	2 (2.17)	
Sex						0.554
Male	5 (7.81)	7 (10.94)	51 (79.69)	1 (1.56)	0 (0.00)	0.554
Female	14 (9.79)	12 (8.39)	115 (80.42)	0 (0.00)	2 (1.40)	
Work experience						0.150
<10 years	10 (7.52)	12 (9.02)	110 (82.71)	1 (0.75)	0 (0.00)	
10–20 years	5 (8.62)	5 (8.62)	46 (79.31)	0 (0.00)	2 (3.45)	
>20 years	4 (25.00)	2 (12.50)	10 (62.50)	0 (0.00)	0 (0.00)	
Work place						0.127
Academic university	8 (10.96)	9 (12.33)	56 (76.71)	0 (0.00)	0 (0.00)	
Provincial tertiary hospital	9 (10.84)	6 (7.23)	68 (81.93)	0 (0.00)	0 (0.00)	
Private hospital	2 (5.41)	4 (10.81)	30 (81.08)	1 (2.70)	0 (0.00)	
Cancer center	0 (0.00)	0 (0.00)	10 (83.33)	0 (0.00)	2 (16.67)	
Community hospital	0 (0.00)	0 (0.00)	2 (100.00)	0 (0.00)	0 (0.00)	
Number of cases per year						0.602
<5 cases	4 (10.81)	2 (5.41)	30 (81.08)	1 (2.70)	0 (0.00)	
5-20 cases	10 (8.33)	14 (11.67)	94 (78.33)	0 (0.00)	2 (1.67)	
>20 cases	5 (10.00)	3 (6.00)	42 (84.00)	0 (0.00)	0 (0.00)	
Training in palliative care						0.670
Ever	17 (9.55)	18 (10.11)	140 (78.65)	1 (0.56)	2 (1.12)	
Never	2 (6.90)	1 (3.45)	26 (89.66)	0 (0.00)	0 (0.00)	
Palliative care team in hospital						0.342
Yes	17 (10.06)	15 (8.88)	135 (79.88)	0 (0.00)	2 (1.18)	
No	2 (5.26)	4 (10.53)	31 (81.58)	1 (2.63)	0 (0.00)	
Total	19 (9.18)	19 (9.18)	166 (80.19)	1 (0.48)	2 (0.97)	

Table 3 Clinical scenario of a middle-age fema	ale with advanced cancer (Q1)
------------------------------------------------	-------------------------------

All data are represented by n (%).

patients into 3 different age groups, i.e., middle age (*Tables 3-5*), young age (*Tables 6-8*), or old age (*Tables 9-13*), and cancer status, i.e., early stage (*Tables 6-8,11-13*), advanced stage (*Tables 9,10*), or recurrence (*Tables 3-5*). The first

scenario which was demonstrated in *Tables 3-5*, was a middle-aged lady with an asymptomatic recurrence of disease. Most of the participants (80.19%) responded that they would provide an information about the recurrence

Q2: From question 1, when would you introduce a palliative care to this patient? Factors When her symptoms are uncontrollable Not tell the patient but introduce her husband about palliative care P value Age	
Factors At this recurrence When her symptoms are uncontrollable Not tell the patient but introduce her husband about palliative care P value Age 0.198 <40 years	
Age0.198 ≤ 40 years 89 (77.39) 25 (21.74)1 (0.87)>40 years73 (79.35)15 (16.30)4 (4.35)Sex0.322Male48 (75.00)13 (20.31)3 (4.69)Female114 (79.72)27 (18.88)2 (1.40)Work experience0.215<10 years	Э
\$40 years \$89 (77.39) 25 (21.74) 1 (0.87) >40 years 73 (79.35) 15 (16.30) 4 (4.35) Sex 0.322 Male 48 (75.00) 13 (20.31) 3 (4.69) Female 114 (79.72) 27 (18.88) 2 (1.40) Work experience 0.215 <10 years	
>40 years 73 (79.35) 15 (16.30) 4 (4.35) Sex 0.322 Male 48 (75.00) 13 (20.31) 3 (4.69) Female 114 (79.72) 27 (18.88) 2 (1.40) Work experience 0.215 <10 years	
Sex 0.322 Male 48 (75.00) 13 (20.31) 3 (4.69) Female 114 (79.72) 27 (18.88) 2 (1.40) Work experience 0.215 <10 years	
Male 48 (75.00) 13 (20.31) 3 (4.69) Female 114 (79.72) 27 (18.88) 2 (1.40) Work experience 0.215 <10 years	
Female 114 (79.72) 27 (18.88) 2 (1.40) Work experience 0.215 <10 years	
Work experience 0.215 <10 years	
<10 years	
10-20 years 45 (77.59) 12 (20.69) 1 (1.72) >20 years 11 (68.75) 3 (18.75) 2 (12.50) Work place 0.213 Academic university 63 (86.30) 9 (12.33) 1 (1.37) Provincial tertiary hospital 58 (69.88) 23 (27.71) 2 (2.41) Private hospital 30 (81.08) 5 (13.51) 2 (5.41)	
>20 years 11 (68.75) 3 (18.75) 2 (12.50) Work place 0.213 Academic university 63 (86.30) 9 (12.33) 1 (1.37) Provincial tertiary hospital 58 (69.88) 23 (27.71) 2 (2.41) Private hospital 30 (81.08) 5 (13.51) 2 (5.41)	
Work place 0.213 Academic university 63 (86.30) 9 (12.33) 1 (1.37) Provincial tertiary hospital 58 (69.88) 23 (27.71) 2 (2.41) Private hospital 30 (81.08) 5 (13.51) 2 (5.41)	
Academic university 63 (86.30) 9 (12.33) 1 (1.37) Provincial tertiary hospital 58 (69.88) 23 (27.71) 2 (2.41) Private hospital 30 (81.08) 5 (13.51) 2 (5.41) Concert center 9 (75.00) 2 (25.00) 0 (0.00)	
Provincial tertiary hospital 58 (69.88) 23 (27.71) 2 (2.41) Private hospital 30 (81.08) 5 (13.51) 2 (5.41) Concer center 9 (75.00) 2 (25.00) 0 (0.00)	
Private hospital 30 (81.08) 5 (13.51) 2 (5.41) Concer conter 0 (75.00) 2 (25.00) 0 (0.00)	
Capacity 0.75.00) 2.725.00) 0.70.00)	
Calce center $9(75.00)$ $3(25.00)$ $0(0.00)$	
Community hospital 2 (100.00) 0 (0.00) 0 (0.00)	
Number of cases per year 0.322	
<5 cases 28 (75.68) 8 (21.62) 1 (2.70)	
5–20 cases 90 (75.00) 27 (22.50) 3 (2.50)	
>20 cases 44 (88.00) 5 (10.00) 1 (2.00)	
Training in palliative care 0.227	
Ever 142 (79.78) 31 (17.42) 5 (2.81)	
Never 20 (68.97) 9 (31.03) 0 (0.00)	
Palliative care team in hospital 0.613	
Yes 134 (79.29) 31 (18.34) 4 (2.37)	
No 28 (73.68) 9 (23.68) 1 (2.63)	
Total 162 (78.26) 40 (19.32) 5 (2.42)	

Table 4 Clinical	scenario	of a mide	lle-age f	emale with	advanced	cancer ((O)	12
	scenario	or a muu	ne age i	cillare with	auvanceu	cancer	Š	

All data are represented by n (%).

of disease to both the patient and her husband. Most of the participants (78.26%) decided to introduce PC on this recurrence. Most of them offered the do-not-resuscitate (DNR) option to the couples when this patient entered the suffering or symptomatic recurrence (87.44%). No specific participants' characteristic was associated with their

decisions.

The second scenario (*Tables 6-8*) was a young patient with an early stage of cancer, most of the participants chose to inform both the patient and her mother about the diagnosis (74.40%). Most of them introduced PC at the recurrent setting regardless of the patient's symptom (56.52%). In

Mathaveechotikul et al. Thai gynecologic oncologists' perspective in palliative care

Q3: From guestion 1, at a 6 months follow-up, she palpates a pelvic mass and constantly feels pain. She

Factors	takes many pain killers. Now s fatigue	he has urine, feces, and mud d. Would you offer her a do-r	cous bloody discharge from not-resuscitate option?	vagina. She looks
	Tell only the patient, but not her husband	Tell both patient and her husband	Tell her husband, but not the patient	P value
Age				0.297
≤40 years	3 (2.61)	103 (89.57)	9 (7.83)	
>40 years	1 (1.09)	78 (84.78)	13 (14.13)	
Sex				0.099
Male	1 (1.56)	52 (81.25)	11 (17.19)	
Female	3 (2.10)	129 (90.21)	11 (7.69)	
Work experience				0.840
<10 years	3 (2.26)	118 (88.72)	12 (9.02)	
10–20 years	1 (1.72)	49 (84.48)	8 (13.79)	
>20 years	0 (0.00)	14 (87.50)	2 (12.50)	
Work place				0.286
Academic university	3 (4.11)	64 (87.44)	6 (7.8)	
Provincial tertiary hospital	1 (1.20)	73 (87.95)	9 (10.84)	
Private hospital	0 (0.00)	34 (91.89)	3 (8.11)	
Cancer center	0 (0.00)	8 (66.67)	4 (33.33)	
Community hospital	0 (0.00)	2 (100.00)	0 (0.00)	
Number of cases per year				0.572
<5 cases	0 (0.00)	33 (89.19)	4 (10.81)	
5-20 cases	3 (2.50)	107 (89.17)	10 (8.33)	
>20 cases	1 (2.00)	41 (82.00)	8 (16.00)	
Training in palliative care				0.743
Ever	4 (2.25)	156 (87.64)	18 (10.11)	
Never	0 (0.00)	25 (86.21)	4 (13.79)	
Palliative care team in hospital				1.00
Yes	4 (2.37)	147 (86.98)	18 (10.65)	
No	0 (0.00)	34 (89.47)	4 (10.53)	
Total	4 (1.93)	181 (87.44)	22 (10.63)	

Table 5 Clinical scenario of a middle-age female with advanced cancer (Q3)

All data are represented by n (%).

addition, if the patient was still in remission, most of the participants decided not to discuss about DNR (71.98%). Age of participants and workplace settings were associated with the decision to introduce PC with the P value of 0.031 and 0.030, respectively. The workplace settings of

the participants were also an important factor affecting the decision to discuss DNR even in the patients without any evidence of disease (P=0.001).

The third scenario (*Tables 9,10*) was a conspiracy of silence scenario. It was about an elderly patient with an

Factors	Q4: A 17-year-old obese curettage was perform endometrioid carcinc	female student has had a ned. Today, she comes wit oma FIGO grade 1. Would	bnormal uterine bleeding for 3 years. The h her mother for the pathological report. you inform her and/or her mother the dia	en fractional It reports gnosis?
	Tell both the patient and her mother	Tell patient but not her mother	Tell her mother and discuss whether to tell the patient or not	P value
Age				0.794
≤40 years	87 (75.65)	1 (0.87)	27 (23.48)	
>40 years	67 (72.83)	0 (0.00)	25 (25.17)	
Sex				0.174
Male	44 (68.75)	1 (1.56)	19 (29.69)	
Female	110 (76.92)	0 (0.0)	33 (23.08)	
Work experience				0.643
<10 years	99 (74.44)	1 (0.75)	33 (24.81)	
10–20 years	45 (77.59)	0 (0.00)	13 (22.41)	
>20 years	10 (62.50)	0 (0.00)	6 (37.50)	
Work place				0.188
Academic university	56 (76.71)	1 (1.37)	16 (21.92)	
Provincial tertiary hospital	58 (69.88)	0 (0.00)	25 (30.12)	
Private hospital	26 (70.27)	0 (0.00)	11 (29.73)	
Cancer center	12 (100.00)	0 (0.00)	0 (0.00)	
Community hospital	2 (100.00)	0 (0.00)	0 (0.00)	
Number of cases per year				0.847
<5 cases	26 (70.27)	0 (0.00)	11 (29.73)	
5–20 cases	91 (75.83)	1 (0.83)	28 (23.33)	
>20 cases	37 (74.00)	0 (0.00)	13 (26.00)	
Training in palliative care				0.884
Ever	133 (74.72)	1 (0.56)	44 (24.72)	
Never	21 (72.41)	0 (0.00)	8 (27.59)	
Palliative care team in hospital				0.437
Yes	128 (75.74)	1 (0.59)	40 (23.67)	
No	26 (68.42)	0 (0.00)	12 (31.58)	
Total	154 (74.40)	1 (0.48)	52 (25.12)	

Table 6 Clinical scenario of a teenager with early stage of cancer (Q4)

All data are represented by n (%).

advanced stage cancer whose diagnosis was concealed by her daughter. Almost half of the participants (47.83%) decided not to disclose the patient's cancer diagnosis upon her daughter's request but try to convince her daughter to reveal the information to this patient. Nevertheless 34.30% of the participants decided to inform the patient if she expresses any willingness to know her own diagnosis. Only 15.94% of them would unconditionally inform the patient. The responders' gender and their availability of the PC team were associated with their choices with the P

Mathaveechotikul et al. Thai gynecologic oncologists' perspective in palliative care

O5: From question 4, after the patient and her mother know the diagnosis. When should palliative care be

		intro	duced to this patient?		
Factors	At the time of diagnosis	At the time of recurrence, but without symptom	When she has an uncontrolled symptom	Not tell the patient but introduce a palliative care to her mother	P value
Age					0.031*
≤40 years	11 (9.57)	67 (58.26)	36 (31.30)	1 (0.87)	
>40 years	20 (21.74)	50 (54.35)	19 (20.65)	3 (3.26)	
Sex					0.631
Male	12 (18.75)	37 (57.81)	14 (21.88)	1 (1.56)	
Female	19 (13.29)	80 (55.94)	41 (28.67)	3 (2.10)	
Work experience					0.081
<10 years	15 (11.28)	80 (60.15)	37 (27.82)	1 (0.75)	
10-20 years	12 (20.69)	31 (53.45)	12 (20.69)	3 (5.17)	
>20 years	4 (25.00)	6 (37.50)	6 (37.50)	0 (0.00)	
Work place					0.030*
Academic university	13 (17.81)	43 (58.90)	17 (23.29)	0 (0.00)	
Provincial tertiary hospital	14 (16.87)	42 (50.60)	24 (28.92)	3 (3.61)	
Private hospital	2 (5.41)	26 (70.27)	9 (24.32)	0 (0.00)	
Cancer center	0 (0.00)	6 (50.00)	5 (41.67)	1 (8.33)	
Community hospital	2 (100.00)	0 (0.00)	0 (0.00)	0 (0.00)	
Number of cases per year					0.337
<5 cases	6 (16.22)	20 (54.05)	11 (29.73)	0 (0.00)	
5-20 cases	13 (10.83)	70 (58.33)	33 (27.50)	4 (3.33)	
>20 cases	12 (24.00)	27 (54.00)	11 (22.00)	0 (0.00)	
Training in palliative care					0.613
Ever	26 (14.61)	103 (57.87)	45 (25.28)	4 (2.25)	
Never	5 (17.24)	14 (48.28)	10 (34.48)	0 (0.00)	
Palliative care team in hospital					0.986
Yes	26 (15.38)	94 (55.62)	45 (26.63)	4 (2.37)	
No	5 (13.16)	23 (60.53)	10 (26.32)	0 (0.00)	
Total	31 (14.98)	117 (56.52)	55 (26.57)	4 (1.93)	

Table 7 Clinical scenario of a teenager with early stage of cancer (Q5)

All data are represented by n (%). *, P<0.05.

value of 0.025 and 0.034, respectively. Female physicians and those with available PC team would more likely to convince the daughter to tell the patient. However, 90.82%

of the responders decided to discuss DNR with the patient and her caregiver when they have already realized the diagnosis at the time of cancer progression. No participants'

Factors	Q6: From question 4, t 5 years. There is no evi	he patient visits your OF dence of disease. She u you discuss abo	PD for follow-up after a com inderstands that her cancer ut a do-not-resuscitate?	plete primary trea may recur in the	tment for future. Do
	Discuss with the patient but not her mother	Discuss with both patient and her mother	Discuss with her mother, not the patient	Not discuss currently	P value
Age					0.239
≤40 years	4 (3.48)	23 (20.00)	0 (0.00)	88 (76.52)	
>40 years	3 (3.26)	27 (29.35)	1 (1.09)	61 (66.30)	
Sex					0.089
Male	4 (6.25)	18 (28.13)	1 (1.56)	41 (64.06)	
Female	3 (2.10)	32 (22.38)	0 (0.00)	108 (75.52)	
Work experience					0.111
<10 years	5 (3.76)	31 (23.31)	0 (0.00)	97 (72.93)	
10–20 years	1 (1.72)	13 (22.41)	0 (0.00)	44 (75.86)	
>20 years	1 (6.25)	6 (37.50)	1 (6.25)	8 (50.00)	
Work place					0.001*
Academic university	5 (6.85)	14 (19.18)	1 (1.37)	53 (72.60)	
Provincial tertiary hospital	1 (1.20)	30 (36.14)	0 (0.00)	52 (62.65)	
Private hospital	1 (2.70)	4 (10.81)	0 (0.00)	32 (86.49)	
Cancer center	0 (0.00)	0 (0.00)	0 (0.00)	12 (100.00)	
Community hospital	0 (0.00)	2 (100.00)	0 (0.00)	0 (0.00)	
Number of cases per year					0.216
<5 cases	2 (5.41)	6 (16.22)	1 (2.7)	28 (75.68)	
5-20 cases	5 (4.17)	29 (24.17)	0 (0.00)	86 (71.67)	
>20 cases	0 (0.00)	15 (30.00)	0 (0.00)	35 (70.00)	
Training in palliative care					0.767
Ever	7 (3.93)	42 (23.60)	1 (0.56)	128 (71.91)	
Never	0 (0.00)	8 (27.59)	0 (0.00)	21 (72.41)	
Palliative care team in hospital					0.330
Yes	6 (3.55)	42 (24.85)	0 (0.00)	121 (71.60)	
No	1 (2.63)	8 (21.05)	1 (2.63)	28 (73.68)	
Total	7 (3.38)	50 (24.15)	1 (0.48)	149 (71.98)	

Table 8 Clinical scenario of a teenager with early stage of cancer (Q6)

All data are represented by n (%). *, P<0.05.

characteristic was associated with their decisions.

The last scenario (*Tables 11-13*) was based on an old age lady who had just been diagnosed of an early-stage cancer. Most of the participants chose to inform the patient and her son (83.09%) about the diagnosis. Approximately 40%

of the responders would introduce PC at the time of the diagnosis. Half of them decided to discuss the DNR option at this time. Regarding the participants' characteristics, age of the participants and workplace settings were also associated with the responses on the introduction to PC

Table 9 Clinical scenario of an old lady diagnosed with advanced stage of cancer (Q7)

Factors	Q7: A 65-y ago. After a with lun effusion. Re main care g	rear-old female came all investigations wer g metastasis. Today, ole of thoracocentes giver and still does no	e to the hospital with abdominal bloa re made, she has been diagnosed w , she visits the emergency room due is has been discussed with her daug ot want her mother to know the diag diagnosis?	ating and palpable mass ith advance stage of ova to dyspnea and massive ghter who is 35 years old nosis. Would you tell the	two weeks rian cancer e pleural . She is the patient the
	Tell the patient	Tell the patient if she wants to know	Not tell patient but try to convince her daughter to change her mind	Not tell patient as her daughter request	P value
Age					0.162
≤40 years	13 (11.30)	39 (33.91)	60 (52.17)	3 (2.61)	
>40 years	20 (21.74)	32 (34.78)	39 (42.39)	1 (1.09)	
Sex					0.025*
Male	12 (18.75)	13 (20.31)	37 (57.81)	2 (3.13)	
Female	21 (14.69)	58 (40.56)	62 (43.36)	2 (1.40)	
Work experience					0.239
<10 years	17 (12.78)	42 (31.58)	70 (52.63)	4 (3.01)	
10–20 years	14 (24.14)	22 (37.93)	22 (37.93)	0 (0.00)	
>20 years	2 (12.50)	7 (43.75)	7 (43.75)	0 (0.00)	
Work place					0.168
Academic university	12 (16.44)	25 (34.25)	35 (47.95)	1 (1.37)	
Provincial tertiary hospital	10 (12.05)	34 (40.96)	39 (46.99)	0 (0.00)	
Private hospital	10 (27.03)	9 (24.32)	16 (43.24)	2 (5.41)	
Cancer center	1 (8.33)	3 (25.00)	7 (58.33)	1 (8.33)	
Community hospital	0 (0.00)	0 (0.00)	2 (100.00)	0 (0.00)	
Number of cases per year					0.391
<5 cases	6 (16.22)	9 (24.32)	20 (54.02)	2 (5.41)	
5-20 cases	18 (15.00)	47 (39.17)	53 (44.17)	2 (1.67)	
>20 cases	9 (18.00)	15 (30.00)	26 (52.00)	0 (0.00)	
Training in palliative care					0.176
Ever	25 (14.04)	64 (35.96)	86 (48.31)	3 (1.69)	
Never	8 (27.59)	7 (24.14)	13 (44.83)	1 (3.45)	
Palliative care team in hospital					0.034*
Yes	27 (15.98)	62 (36.69)	79 (46.75)	1 (0.59)	
No	6 (15.79)	9 (23.68)	20 (52.63)	3 (7.89)	
Total	33 (15.94)	71 (34.30)	99 (47.83)	4 (1.93)	

All data are represented by n (%). *, P<0.05.

Table 10 Clinical scenario of an old lady diagnosed with advanced stage of cancer (Q8)

Factors	Q8: From que diagnosis and pr patient decided t was	estion 7, after thoracocentes rognosis of cancer has beer o receive best supportive ca done very often. Would you	sis was performed, her symp n discussed with both the pat are without specific treatmen discuss about a do-not-resu	tom was improv tient and her dau t. Then the thora scitate option?	ed. The ughter. The acocentesis
	Discuss with the patient	Discuss with both the patient and her daughter	Discuss with her daughter but not the patient	Not discuss currently	P value
Age					0.508
≤40 years	1 (0.87)	107 (93.04)	5 (4.35)	2 (1.74)	
>40 years	2 (2.17)	81 (88.04)	8 (8.70)	1 (1.09)	
Sex					0.952
Male	1 (1.56)	59 (92.19)	3 (4.69)	1 (1.56)	
Female	2 (1.40)	129 (90.21)	10 (6.99)	2 (1.40)	
Work experience					0.324
<10 years	2 (1.50)	123 (92.48)	6 (4.51)	2 (1.50)	
10–20 years	1 (1.72)	51 (87.93)	6 (10.34)	0 (0.00)	
>20 years	0 (0.00)	14 (87.50)	1 (6.25)	1 (6.25)	
Work place					0.114
Academic university	0 (0.00)	68 (93.15)	4 (5.48)	1 (1.37)	
Provincial tertiary hospital	2 (2.41)	76 (91.57)	4 (4.82)	1 (1.20)	
Private hospital	1 (2.70)	34 (91.89)	1 (2.70)	1 (2.70)	
Cancer center	0 (0.00)	8 (66.67)	4 (33.33)	0 (0.00)	
Community hospital	0 (0.00)	2 (100.00)	0 (0.00)	0 (0.00)	
Number of cases per year					0.778
<5 cases	1 (2.70)	33 (89.19)	2 (5.41)	1 (2.70)	
5-20 cases	2 (1.67)	110 (91.67)	7 (5.83)	1 (0.83)	
>20 cases	0 (0.00)	45 (90.00)	4 (8.00)	1 (2.00)	
Training in palliative care					0.155
Ever	3 (1.69)	164 (92.13)	9 (5.06)	2 (1.12)	
Never	0 (0.00)	24 (82.76)	4 (13.79)	1 (3.45)	
Palliative care team in hospital					0.845
Yes	3 (1.78)	153 (90.53)	11 (6.51)	2 (1.18)	
No	0 (0.00)	35 (92.11)	2 (5.26)	1 (2.63)	
Total	3 (1.45)	188 (90.82)	13 (6.28)	3 (1.45)	

All data are represented by n (%).

with the P value of 0.046 and 0.029, respectively. Moreover, their age and working experiences were associated with their response to discuss DNR with the P value of 0.010 and 0.003, respectively.

The opinion on the appropriate time of palliative care introduction was summarized (*Table 14*). Most of the participants would inform the patients about PC at the time of cancer diagnosis (58.45%). The gender was associated

Factors	Q9: A 72-year-old female came to hospital with postmenopausal bleeding 2 weeks ago. She has been diagnosed with endometrial cancer. Today, she comes with a 49-year-old son for pre-operative preparation. You discover that they do not know the diagnosis clearly. Would you inform her and/or her son the diagnosis?					
	Tell both the patient and her son	Ask her son to wait outside, and tell the patient	Discuss with her son whether he wants his mother to know the diagnosis	P value		
Age				0.087		
≤40 years	100 (86.96)	9 (7.83)	6 (5.22)			
>40 years	72 (78.26)	7 (7.61)	13 (14.13)			
Sex				0.773		
Male	53 (82.81)	6 (9.38)	5 (7.81)			
Female	119 (83.22)	10 (6.99)	14 (9.79)			
Work experience				0.184		
<10 years	112 (84.21)	11 (8.27)	10 (7.52)			
10–20 years	48 (82.76)	2 (3.45)	8 (13.79)			
>20 years	12 (75.00)	3 (18.75)	1 (6.25)			
Work place				0.816		
Academic university	61 (83.56)	7 (9.59)	5 (6.85)			
Provincial tertiary hospital	66 (79.52)	6 (7.23)	11 (13.25)			
Private hospital	31 (83.78)	3 (8.11)	3 (8.11)			
Cancer center	12 (100.00)	0 (0.00)	0 (0.00)			
Community hospital	2 (100.00)	0 (0.00)	0 (0.00)			
Number of cases per year				0.153		
<5 cases	31 (83.78)	0 (0.00)	6 (16.22)			
5-20 cases	98 (81.67)	12 (10.00)	10 (8.33)			
>20 cases	43 (86.00)	4 (8.00)	3 (6.00)			
Training in palliative care				0.669		
Ever	149 (83.71)	13 (7.30)	16 (8.99)			
Never	23 (79.31)	3 (10.34)	3 (10.34)			
Palliative care team in hospital				0.800		
Yes	141 (83.43)	13 (7.69)	15 (8.88)			
No	31 (81.58)	3 (7.89)	4 (10.53)			
Total	172 (83.09)	16 (7.73)	19 (9.18)			

Table 11 Clinical scenario of an old lady diagnosed with early stage of cancer (Q9)

All data are represented by n (%).

with their responses (P=0.006). Female doctors would more likely offer PC early at the time of diagnosis.

There were many aspects of response to the open-ended questions about problems in PC which could be categorized

into 5 groups. First, Thai gynecologic oncologists responded their had a difficult decision to control symptoms in the end-of-life patients such as dyspnea, pain, wound care, and psychological status. Second, the comprehension

Table 12 Clinical scenario of an old lady diagnosed with early stage of cancer (Q10)

	Q10: From question 9, when would you introduce a palliative care to this patient?					
Factors	At the time of diagnosis	At the recurrent setting	When the patient has a suffering symptom	Do not tell the patient but introduce a palliative care to her son	P value	
Age						
≤40 years	48 (41.74)	31 (26.96)	35 (30.43)	1 (0.87)	0.046*	
>40 years	39 (42.39)	27 (29.35)	19 (20.65)	7 (7.61)		
Sex						
Male	22 (34.38)	24 (37.50)	16 (25.00)	2 (3.13)	0.218	
Female	65 (45.45)	34 (23.78)	38 (26.57)	6 (4.20)		
Work experience						
<10 years	54 (40.60)	39 (29.32)	37 (27.82)	3 (2.26)	0.560	
10–20 years	27 (46.55)	15 (25.86)	12 (20.69)	4 (6.90)		
>20 years	6 (37.50)	4 (25.00)	5 (31.25)	1 (6.25)		
Work place						
Academic university	26 (35.62)	29 (39.73)	16 (21.92)	2 (2.74)	0.029*	
Provincial tertiary hospital	43 (51.81)	16 (19.28)	20 (24.10)	4 (4.82)		
Private hospital	15 (40.54)	8 (21.62)	13 (35.14)	1 (2.70)		
Cancer center	1 (8.33)	5 (41.67)	5 (41.67)	1 (8.33)		
Community hospital	2 (100.00)	0 (0.00)	0 (0.00)	0 (0.00)		
Number of cases per year						
<5 cases	18 (48.65)	5 (13.51)	12 (32.43)	2 (5.41)	0.112	
5–20 cases	49 (40.83)	33 (27.50)	32 (26.67)	6 (5.00)		
>20 cases	20 (40.00)	20 (40.00)	10 (20.00)	0 (0.00)		
Training in palliative care						
Ever	79 (44.38)	50 (28.09)	42 (23.60)	7 (3.93)	0.194	
Never	8 (27.59)	8 (27.59)	12 (41.38)	1 (3.45)		
Palliative care team in hospital						
Yes	75 (44.38)	46 (27.22)	41 (24.26)	7 (4.14)	0.427	
No	12 (31.58)	12 (31.58)	13 (34.21)	1 (2.63)		
Total	87 (42.03)	58 (28.02)	54 (26.09)	8 (3.86)		

All data are represented by n (%). *, P<0.05.

of PC concepts usually differed between patients, families, and health care providers. Third, there were no key person making decision in the emergency situations due to the expanded family in Asian culture. Fourth, the uncooperating between specialist doctors resulted in different ways of managements. Last, an unavailability of infrastructure (such as home oxygen, infusion pumps) needed for home care and home death due to low-resource settings.

Discussion

This study demonstrated that most of Thai gynecologic

Mathaveechotikul et al. Thai gynecologic oncologists' perspective in palliative care

	Q11: From question 9, would you discuss about a do-not-resuscitate in this situation?					
Factors	Discuss with the patient, not her son	ent, Discuss with both the Discuss with her son but patient and her son not the patient		Not discuss currently	P value	
Age					0.010*	
≤40 years	0 (0.00)	69 (60.00)	3 (2.61)	43 (37.39)		
>40 years	1 (1.09)	44 (47.83)	13 (14.13)	34 (36.96)		
Sex					0.395	
Male	1 (1.56)	36 (56.25)	6 (9.38)	21 (32.81)		
Female	0 (0.00)	77 (53.85)	10 (6.99)	56 (39.16)		
Work experience					0.003*	
<10 years	0 (0.00)	83 (62.41)	6 (4.51)	44 (33.08)		
10–20 years	0 (0.00)	23 (39.66)	7 (12.07)	28 (48.28)		
>20 years	1 (6.25)	7 (43.75)	3 (18.75)	5 (31.25)		
Work place					0.332	
Academic university	1 (1.37)	37 (50.68)	4 (5.48)	31 (42.47)		
Provincial tertiary hospital	0 (0.00)	51 (61.45)	9 (10.84)	23 (27.71)		
Private hospital	0 (0.00)	18 (48.65)	3 (8.11)	16 (43.24)		
Cancer center	0 (0.00)	5 (41.67)	0 (0.00)	7 (58.33)		
Community hospital	0 (0.00)	2 (100.00)	0 (0.00)	0 (0.00)		
Number of cases per year					0.561	
<5 cases	0 (0.00)	19 (51.35)	5 (13.51)	13 (35.14)		
5–20 cases	1 (0.83)	69 (57.50)	6 (5.00)	44 (36.67)		
>20 cases	0 (0.00)	25 (50.00)	5 (10.00)	20 (40.00)		
Training in palliative care					0.958	
Ever	1 (0.56)	96 (53.93)	14 (7.87)	67 (37.64)		
Never	0 (0.00)	17 (58.62)	2 (6.90)	10 (34.48)		
Palliative care team in hospital					0.497	
Yes	1 (0.59)	93 (55.03)	11 (6.51)	64 (37.87)		
No	0 (0.00)	20 (52.63)	5 (13.16)	13 (34.21)		
Total	1 (0.48)	113 (54.59)	16 (7.73)	77 (37.20)		

Table 13 Clinical scenario of an old lady diagnosed with early stage of cancer (Q11)

All data are represented by n (%). *, P<0.05.

oncologists were willing to initiate palliative and endof-life care for their patients and family members. They perceived them as their responsibilities and strongly agreed to introduce PC at the time of cancer diagnosis. Moreover, most of them strongly agreed that PC could relieve the grieve of the family members after the patient's death. The participants' characteristic associating with their conceptions and perspectives was the availability of the PC team in their hospitals. As expected, the gynecologic oncologists with the available PC team strongly agreed that it is not necessary to establish PC as a compulsory subject in the fellowship training program. They additionally

Table 14 The responds in unning of painative care introduction (O1)	Table 14 The responds in timir	ng of palliative car	e introduction (O12)
----------------------------------------------------------------------------	--------------------------------	----------------------	------------------	------

	Q12: In your opinion when should a palliative care be introduced to the patients?					
Factors	At the time of cancer diagnosis	At the first recurrence or disease progression	At the second recurrence	When patients have poor physical function or uncontrolled symptoms	P value	
Age					0.316	
≤40 years	73 (63.48)	28 (24.35)	3 (2.61)	11 (9.57)		
>40 years	48 (52.17)	33 (35.87)	3 (3.26)	8 (8.70)		
Sex					0.006*	
Male	39 (60.94)	12 (18.75)	5 (7.81)	8 (12.50)		
Female	82 (57.34)	49 (34.27)	1 (0.70)	11 (7.69)		
Work experience					0.495	
<10 years	78 (58.65)	38 (28.57)	3 (2.26)	14 (10.53)		
10–20 years	35 (60.34)	18 (31.03)	1 (1.72)	4 (6.90)		
>20 years	8 (50.00)	5 (31.25)	2 (12.50)	1 (6.25)		
Work place					0.330	
Academic university	43 (58.90)	24 (32.88)	1 (1.37)	5 (6.85)		
Provincial tertiary hospital	50 (60.24)	23 (27.71)	1 (1.20)	9 (10.84)		
Private hospital	21 (56.76)	11 (29.73)	3 (8.11)	2 (5.41)		
Cancer center	5 (41.67)	3 (25.00)	1 (8.33)	3 (25.00)		
Community hospital	2 (100.00)	0 (0.00)	0 (0.00)	0 (0.00)		
Number of cases per year					0.270	
<5 cases	24 (64.86)	9 (24.32)	1 (2.70)	3 (8.11)		
5-20 cases	63 (52.50)	42 (35.00)	5 (4.17)	10 (8.33)		
>20 cases	34 (68.00)	10 (20.00)	0 (0.00)	6 (12.00)		
Training in palliative care					0.875	
Ever	102 (57.30)	53 (29.78)	6 (3.37)	17 (9.55)		
Never	19 (65.52)	8 (27.59)	0 (0.00)	2 (6.90)		
Palliative care team in hospital					0.554	
Yes	101 (59.76)	48 (28.40)	4 (2.37)	16 (9.47)		
No	20 (52.63)	13 (34.21)	2 (5.26)	3 (7.89)		
Total	121 (58.45)	61 (29.47)	6 (2.90)	19 (9.18)		

All data are represented by n (%). *, P<0.05.

agreed that the time to introduce PC was when a cancer was diagnosed, and PC was essential. The other factor was the number of palliative patients. The higher number of PC patients they took care, the stronger agreement on the importance of PC they possessed.

PC undeniably has an important role in cancer care

process. Nowadays, the health care providers concern more on the quality of life, spiritual aspect, and mind of the palliative patients. Early PC offering has the better outcome (3,4). This study substantiated the concerns, conceptions, and perspectives on PC among gynecologic oncologists in Thailand. The reason that many Thai gynecologic oncologists in this survey pay attention in early offering of palliative care even in early-stage cancer in young patients may probably be from a Thai Buddhist culture. Around 95% of Thai people practice Buddhism. They believe in "the Contemplation of Death", practice mindfulness, guard the earnestness, are compassionate. They always support each other when unpleasant or distressing events happened. Oncologists do not only reassure their patients very often about their remission, but also tell them the whole disease prognosis and chance of recurrence. Routine advices are how to observe abnormal symptoms which may lead to the early detection of disease recurrence, or how to control suffering symptoms from the treatment complication.

Decision making of Thai gynecologic oncologists among different clinical scenarios reflected that most of them had knowledge and understanding in PC concepts. Up to 80% of them decided to offer PC and DNR early to both patients and their families, especially in the elderly, advanced cancer, or recurrent disease. These findings suggested that the responders embraced early PC offerings in combination with the main treatment. Regarding the characteristics, those with longer working experiences, working in the tertiary care hospitals (academic or provincial tertiary hospitals), and accompanied by the PC team, had more understanding in practicing palliative and end-of-life cares. The experience in PC training was not associated with the decision making the scenarios. This finding differed from the study published by Ratanakaaew and colleagues in 2015 who reported the competency of moderately well-prepared level in PC and low level in spiritual care among certificated-board and intraining gynecologic oncologists. Hence, they emphasized of the teaching of PC during fellowship training (12). The difference could be explained by 2 reasons. Firstly, our study did not include the in-training gynecologic oncologists; consequently, most of the respondents in our survey were more experienced. Secondly, this might be affected by the difference in the study period. PC in Thailand was formally initiated in 1997. At that time, the healthcare personnel's knowledges, attitudes, concerns, and facilities were limited. One of the major barriers for the development of PC was the lack of an explicit healthcare policy. Based on the report from the Worldwide Palliative Care Alliance in 2014, Thailand was classified as a country where PC was only provided in some areas (14). Fortunately, in 2018, the Health System Research Institute (HSRI) published a recommendation for hospice care in Thailand. Moreover, the Ministry of Public Health provided many short training courses in PC for healthcare

providers to reduce the expenses of the overall treatment, diminish the hospital admission, and raise the patient's awareness of their disease status and prognosis (15). In spite of the fact that PC is not assigned as a compulsory subject in the medical school curriculum in Thailand. Consequently, most of Thai doctors including the gynecologic oncologists developed their knowledges and practices in PC over these few years.

Based on their responses on the open questions about the problems in PC in our survey, there were some interesting issues. Firstly, some Thai gynecologic oncologists expressed their problems in cancer pain control. They mentioned the lack of pain control knowledge, inadequate time to deal with the patients' problems, and limitation of the inpatient spaces for some difficult cases. Secondly, in Thai or Asian cultures with expanded families, doctors may face multiple family members who sometimes lead to exceedingly different opinions and overprotection, especially among seniors. As a result, gynecologic oncologists inevitable face some communication challenges. Thirdly, one respond concerned that some patients perceived that when PC was offered, the oncologists would no longer be their main physicians. This concept might bring the separation anxiety to these cancer patients. Fourthly, there were still some communication problems with the documentations to clarify a DNR in the end-of-life patients even after their decisions were made which led to the unnecessary invasive procedures including the resuscitation, especially in emergency and uncommunicable conditions.

There were some limitations in this study. Although there were some open-ended or subjective questions in our survey, multiple choice or objective questions remained the majority of the questionnaires. This might lead some response bias. A qualitative research in this area may discover the details of the physicians' concern, perspective, attitude and practice, also reduce the response bias. However, one of the strengths in this study was a high response rate which was 64.69%. The reason might be the ease of the assessment via the online platform. More than half of the responders practiced in the tertiary care settings. Nevertheless, most of the gynecologic cancer patients were referred to the tertiary care hospitals for specific treatments. Our survey results may represent the real world of practicing PC for Thai gynecologic oncologists.

Conclusions

Thai gynecologic oncologists had proper perspectives

and modern conceptions in PC. They expressed their willingness to offer palliative and end-of-life cares for the patients and her families, especially in the elderlies, or those with advanced or recurrent diseases.

Acknowledgments

The authors thank Asst. Prof. Bualuang Sumdaengrit, PhD. for an active guidance. *Funding*: None.

Footnote

Reporting Checklist: The authors have completed the STROBE reporting checklist. Available at https://dx.doi. org/10.21037/apm-21-1418

Data Sharing Statement: Available at https://dx.doi. org/10.21037/apm-21-1418

Peer Review File: Available at https://dx.doi.org/10.21037/ apm-21-1418

Conflicts of Interest: All authors have completed the ICMJE uniform disclosure form (available at https://dx.doi.org/10.21037/apm-21-1418). The authors have no conflicts of interest to declare.

Ethical Statement: The authors are accountable for all aspects of the work in ensuring that questions related to the accuracy or integrity of any part of the work are appropriately investigated and resolved. The study was conducted in accordance with the Declaration of Helsinki (as revised in 2013). This study was approved by the Human Research Ethics Committee, Faculty of Medicine Ramathibodi Hospital, Mahidol University (COA. MURA2020/552) and informed consent was taken from all individual participants.

Open Access Statement: This is an Open Access article distributed in accordance with the Creative Commons Attribution-NonCommercial-NoDerivs 4.0 International License (CC BY-NC-ND 4.0), which permits the non-commercial replication and distribution of the article with the strict proviso that no changes or edits are made and the original work is properly cited (including links to both the formal publication through the relevant DOI and the license). See: https://creativecommons.org/licenses/by-nc-nd/4.0/.

References

- Imsamran W, Chaiwerawattana A, Wiangnon S, et al. Cancer in Thailand Vol.IX, 2013-2015. vol IX. Bangkok: Cancer Registry Unit, National Cancer Institute Thailand, 2018.
- Nelson G, Bakkum-Gamez J, Kalogera E, et al. Guidelines for perioperative care in gynecologic/oncology: Enhanced Recovery After Surgery (ERAS) Society recommendations-2019 update. Int J Gynecol Cancer 2019;29:651-68.
- Rugno FC, Paiva BS, Paiva CE. Early integration of palliative care facilitates the discontinuation of anticancer treatment in women with advanced breast or gynecologic cancers. Gynecol Oncol 2014;135:249-54.
- 4. Temel JS, Greer JA, Muzikansky A, et al. Early palliative care for patients with metastatic non-small-cell lung cancer. N Engl J Med 2010;363:733-42.
- Bakitas MA, Tosteson TD, Li Z, et al. Early Versus Delayed Initiation of Concurrent Palliative Oncology Care: Patient Outcomes in the ENABLE III Randomized Controlled Trial. J Clin Oncol 2015;33:1438-45.
- Poulose JV, Do YK, Neo PS. Association between referralto-death interval and location of death of patients referred to a hospital-based specialist palliative care service. J Pain Symptom Manage 2013;46:173-81.
- Schenker Y, Crowley-Matoka M, Dohan D, et al. Oncologist factors that influence referrals to subspecialty palliative care clinics. J Oncol Pract 2014;10:e37-44.
- El-Sahwi KS, Illuzzi J, Varughese J, et al. A survey of gynecologic oncologists regarding the end-of-life discussion: a pilot study. Gynecol Oncol 2012;124:471-3.
- Cripe JC, Mills KA, Kuroki LK, et al. Gynecologic Oncologists' Perceptions of Palliative Care and Associated Barriers: A Survey of the Society of Gynecologic Oncology. Gynecol Obstet Invest 2019;84:50-5.
- Lesnock JL, Arnold RM, Meyn LA, et al. Palliative care education in gynecologic oncology: a survey of the fellows. Gynecol Oncol 2013;130:431-5.
- Nagaviroj K, Anothaisintawee T. A Study of the Association Between Multidisciplinary Home Care and Home Death Among Thai Palliative Care Patients. Am J Hosp Palliat Care 2017;34:397-403.
- Ratanakaaew A, Khemapech N, Laurujisawat P. Palliative Care Education in Gynecologic Oncology: a Survey of Gynecologic Oncologists and Gynecologic Oncology Fellows in Thailand. Asian Pac J Cancer Prev 2015;16:6331-4.

10312

Mathaveechotikul et al. Thai gynecologic oncologists' perspective in palliative care

- Israel GD. Determining sample size. 1992. Available online: https://www.psycholosphere.com/ Determining%20sample%20size%20by%20Glen%20 Israel.pdf
- 14. Connor SR, Bermedo MC. Global atlas of palliative care

Cite this article as: Mathaveechotikul P, Charakorn C, Lertkhachonsuk AA, Lekskul N, Wilailak S, Nagaviroj K. Perspective and conception of Thai gynecologic oncologists in palliative care. Ann Palliat Med 2021;10(10):10293-10312. doi: 10.21037/apm-21-1418 at the end of life. England: Worldwide Hospice Palliative Care Alliance, 2014.

15. Available online: https://kb.hsri.or.th/dspace/ handle/11228/4922?show=full